oooooO:201560 20 10

00000000o00ooooo(@40)000

O

O

p.42, 00 1.16

0000000000 ¢YzO0O0O00

000000000000 0000 000 20000

p.60, 00 2.1200
O

0000000000 ,0000000006>00000000 20O
d00000 Us(z)D0OODOO0OOO

Us(z0) = {7z € C||z — 20| < 0}

oood

0000000000 ,00000000060>00000000 20O
0000000000000 Us(z)0OD0ODODOODO

Us(z0) = {z € C||z — 20| < 0}

ogoooooood UJ(Z())DD zoU OO U(]g(Z()):{Z|0<|Z*Z()|<5}
UzxpOUOddbbobooooooog

p-61, 0 2.6 JoddoooOoOo SodoooDo0dodoopoooOoOoddodoo| ooo0o0ooooo Sogoooooooooooooooooooon

O00000()~(f)00000000000000000000000 00000000 SOU0U000o0ooooooooooo (a)~()o s
Joob0ooooooooouoooooooon

p.65 Ve>0,30>0:0<|z—al]<d=|f(2) bl <¢e Ve>0,30>0:0<|z—al]<0(Vze D)= |f(z)—b <e

p-69, 200 oooo oooo
Ve>0,30>0:|z—a| <d=|f(z) — fla)| <e Ve>0,30>0:|z—a| <d(Vze D)= |f(z) — fla)| < e

p-69, 500 oooooooo oooooooo
Ve>0,30>0:|z—al] <d(z€0D) = |f(z) — fla)| <& Ve>0,30>0:|z—al] <d(Vz€9D) = |f(2) — f(a)| < ¢

p.69, 00O 2.10 00 f(2)0 g(>) 0000 DOOOOOOOf(2)£g(2)0 f(2)9(2)0 D | 00 f(2)0g(>) 0000 DOOODO0O0OOOc.0O00000O00OOf(2)x
DDDDDDDDDD%D;}@):ODDD »0000DOO00O0O | g(z)0 f(2)g(z) 000 ¢f(z) O DDDDDDDDDDDfEE;Dg(z)zo
oo ! 000 O00OOOoO pooooooo !

p.74 D000 e—-6000000 D000 e-600000O00

f(z) = f(a)

Ve>0,30>0:0<|z—a|l <d=

— fl(a)| < e

zZ—a

O0000000eeDO0O0OzeDOOODOOODO

Ve>0,30>0:0<|z—a|<d(Vz e D) = M—f’(a) <e

zZ—a

00008E8Eee b HHEH

[ e e e e




O 0
p.80, 00 3.2.1
fla+h,b+k)— f(a,b) = fula,b)h+ f,(a,b)k +e(h, k) (3.4) fla+h,b+k)— f(a,b) = fu(a,b)h + f,(a,b)k + e(h, k) (3.4)
D0000000000000De(hk)D D0D000000000000Y,, f,00000 2,y00000000
L) 00O000e(h k) O
(hk)=0.0) VA2 + k2 , e(h, k)
oo VTR
D000 2000000000 (8200 VA" +
gooo20000000o0o
p.98, 00 4.1 0000 {¢,}0000 200000 0000 {¢,}0000 200000
chz”:00+clz+0222+~~~+cnz"+~~~ (4.1) ch(zfa)":00+c1(zfa)+(:2(zfa)2+~-~+cn(zfa)n+~-~
n=0

n=0

gboogoboobooboooboobooobon

(4.1)
0obododdobbebdoobbOooooboobooooooa

p.98, 00 4100
(0041000 4.1

oboo0Oo0oboob 000000 w=z2z—-—aO000O0000000O
oo
gboboooooooboobooon azODDDDDDDDDchz”

oo)ooo n=0
ObooodooboooooodoooooooooooooooonDo
doddddododotbdddddUoU0UUoUoooboOo 2300000
gooooo

p-100, O 0O 4.3 00000 AODDDO ADOODOO0ODO00 « 00000000 eD A | DOO0DO0 ADOODOAODOODOOD 200000 «DOO0ODOO

O1o00o00o0oo0oo D00z<eO00OO000OD0eO AO0+BE000000
p.138, 00O lim;;, 00 2(m + 1) = 00 lim, 00 2(m +1)(2m + 1) = 00
p.156, OO 5.4 O0C:2=2(t (a<t<b)0O00D00000000DO0OO0|00C:2=2(t (@<t<bOOODOOOODOOOOOOOOOOO

2(a) =2()0000CO00000000000000O0000000
00000D0000000000a<t <t <bO0O 2(t1) = 2(tx) OO
00 t,t,000000000C0000000000000000000
0000000000000000000000000000000000

z(a) = 2()) 0000CO000000000000000O0 CO0000
a <ty <ty <bOD z(t) = 2(t) 0000 ¢,6, 0000000000
000000000000+ =e00t=b000000000000
000000000CO00000000000000000000000
000000000000000000000000000000000
000000000000000 CO00000000CO000000
0000D000000D0000




O

O

p.157, 00 5.5

goooooooooooooooogoooooo cooooo2000
ooooooooooooooo cooogooooooooo cod
ooood

oooooogooooooooogo coogono

00000000000000000000000 cO000002000
000000000000000 CO0O000000000000 OO0
0D0000000000000CO00000000000000000
Ci,Cs, ...C,000000COO0000 G, Cs,...,C,, 000000
000000000o0o0oC, Gy, s, ...,C, 00000000000
ooQ

0000000000000000CcOo0O00O0

p.157,0 5.3000

CcO00D000(00)06pODOD00 (00O)

CcO00000 (0D0)0éDODOD000 (0D)D00D000000000
O

p.157, 00 5.3

goopOODOODOODODDODODODODODOOO

00 poO0O0opOO00000O0O000O00O00O00OOOOOOOO
gboogoboooboooooooboobobooboo

p-166, 00 5.700
oo

O000oooooo (5.8)00

t)dt

/u DIl ()t = /VIWI

oooooooono

2)dz 0000000000000 000O0O0OO0OOOOO0

/76
o [ s :Mjww

0000000000000C:z=2z(t)(a<t<b),

olt) = v(@(t)y(1)), F=(t) = u(t) + iv(t), =(1) =
OO0 56000

00000000 (ac— bd)? < (a? + b?)(c?

good
b
g/wa

oooooooono

m<9§2ﬂDDDDDDDD/f@Mﬁ]

u(t) = (), y(t)).
z(t)+yt) 00000

b
= Re/c f(z)dz = /C(ud:c—vdy) :/a (u(®)a'(t) — v(t)y'(t))

+d?>) 0000000000

D2/o (02 + o (D2t = /u Jlld|

c




O O
p 171, 00 5100 | [F(2)]] = F(e) — F(B) [F(2)] = F(8) — F(a)
O
p.172, 00 5.11 0 00 51082851 00000000000000000000000
00 5.900 5.80 goooao ~N | 0000000000000000000000000000000000

ooooog

00 5.11. 00 f(-) 000 DOOOODOO0OO F(z)0D000g(2)
0000D000DOOOOD 20 ,4000000000000

B B
[ 1@ =@ - [ Feg e
: : Y,
(DD)DDDDDDDDDDDDDDD |
g0 510000 511 0000000000000 00DO0O0D0O0DOOOOg
OJo0dodooooooooooooooooooooooooooog
00000 f(z) 000000

F(z) = / " fyat

O00D00F(x)=f(x)000000000000000000O0O0O0O
oobooobobooboooooooooboooboooobooboboooooo
ooboobboooboooooooboobbooboobobooboooooo
ooooooooo

00000 f(z)000O00D0

F(z) = / " fyat

O00D00F(z)=f(x) 0000000000000 O0DO0OO0OOODO
ooboobboobooooobooooboooboooobooboboooooo
ooooobboooboooooooboobboooooooooooboog
ooooooooo

s oood ~
005.9. 00 D00000O0O0O0O0O f(:)000000000 a€D
oooob0dzeDODOO DOOODO CDDDDDDD/f(z)dz

c

o000 cooooogOd z0000o0gooooogg

Fe = [ T FQ)dc

00000 f(,) 00000000

/

s oood ~
005.9.00 DO0000O0O0OO0OO f(,)000000000 a€e D

oboboob0OdzeDOOODOOOO C’DDDDDDD/f(z)dz
c
o000 coooooon0 0000000000000

e = [ T F(Q)de

00000 f(,) 00000000

/

obs5.8. 000b0oboooooboooobuooooobooboon
O00000000000000000000F(z,)00000000

gbooobooboooboobooboobooboobooon

gos8. 0boogoboboooboboooobobobboooobo
0000000000000 0000000F(z,) 00000000

gboooboobooobooboobooooboobooon

00000000000 00000000 5120000000000 F(z2)
goboogbobooboboobooboobobooboobooobo

oooon ~

00 5.11. 00 f(-)000 DOOOODOO00O F(z)0000g(2)
0000000DOO0OD00 20 ,4000000000000

B B
/ f(2)g(2)dz = [F(2)g(2))f / F(2)g/(2)dz

(00)OoOooUoooooUooooooo |




O

O

p-179, 00 5.15

pOO00D0OODOO0OO0OO0OODOoOOObOOobOobOOoOooOOobooDbOon
Oo0ooood0ooDO DOODOOOOODOOOOOOOOOODODO

pOoOdoooOoO0OooooOoOooooboOOoooooboooooogoooDo
OO0oooooDO DOOOODOOODOOODOODOODODOOO

p-182, 00 5.16

pOO00D0OODOO0OO0OO0OODOoOOObOOobOobOOoOooOOobooDbOon
ooooog

pOoOdoooOoO0OooooOoOooooboOOoooooboooooogoooDo
oood

p.187, 00 5.20

00 f(>»)000 DOO0O0OOOODOO 20000000 ¢4,C,00
ooc,ooo c0ooooc,0c0ooooooopoobooon
ooooooooon

f)dz = [ f(z)de
Cl Cz

ooooog

00 f(>)000 DOO0O0O0O0OODOO 20000000 C,C,00
ooc,o0oo c0ooooc,o0c,0ooooooopooboooon
ooooooooc,0 G,o0gooogoooogoooogoooon

vz = [ )
Cq Ca

p-189, 00 5.21

00000 CO000000000000000000000 Cy,---,Cy
ooooooc, ¢y, ..., C, 000000000 POOO0OOOO0OO0OOO
fz)0 D=DuCuC,U---UC, 0000000000000000
000

000000
00000 CO000000000000000000000C,,---,C,0
oooooc, oy,...,C, 00000000 DO00O0OnG, Cy,...,Ch

00000000000000000000f(z)0 D = DUCUC,U---UC,
0000000000000000000

p.191, 0 5.2

f(z) 000 DOOOOOC,Cy,...,C,00000000000000
oooooo0ooc, ..., C, 0000 CcOo0O0oooooeao Gy, ...,
C,00000000PO00O000000O0O000000000(5.13)
oooooO

f(zx)0ODO0O DOOOOOC,Cy,...,C,0000000DODOOODOOO
oooooogooooooooogoooooopgdc,,..,Cc, 0000 ¢
ocoooogoooco Gy, ..., c, 00000000 DODOODOOOO
O000ooooooooG.13)oooooo

p.191, 0 5.130 0
O

ocoooocorn, l,0oooooooo pOooooOogn 52100

ocoooocor, l,0oDoooooo pooooOogO s2100

p-199, 00O 5.22

pOO00D0OODOO0OO0OO0OODOoOOObOOobOobOOoOooOOobooDbOon
ooooooooopOD DOOODOOOOOO

pOoOdoooOoO0OooooOoOooooboOOoooooboooooogoooDo
oo0oooooDO DOOODOOOOODOD

p.201, 0 5.3

fx)000D000 DOUOOUOOD0OOCO DOOODODOODOOOOOO
oo0oooooocoopoooooD 000000000000

fxr)OODODO0OO0O DOODOODODOCO DOOOODOOODOOO
coocooooodoooooooooooocoooogooog 20
oooooooooboon




p.201, 0 5.14(3) 0
oo

| o5 o-tlE=2)

sin z
Eelodi — -9
/C pE 1>dz, C={z]|z| }

p-203, 00 5.23

00000 CO000000000000000000000C,, ..
0ooooooc, o, ..

. Ch
L,C, 00000000 DpDOOODODOOOOD

o000 coopooooooogooooogooooogn ey, ..., Gy
ocoooooco, Gy, .., ¢, 00000000 DOOOOOODOC, Cy,
L, ¢y 0bogooboooooooooooooo

p.204, 00 5.24 pDO0OD0O0O0OO0OOO0O0OOOOO0ODCOOO0OOONO0O0O0OO0O0000ON0D | PDOOOO0O0OOOOO00O0O0O0000000000000000000
00000000 6DO DOODOOOOOOOD 000000 6DD POOOODODOOOODO

p.205, 00 5.25 pDO0OD0O0O0OO0OOO0O0OOOOO0ODCOOO0OOONO0O0O0OO0O0000ON0D | PDOOOO0O0OOOOO00O0O0O0000000000000000000
00000000 6DO DOODOOOOOOOD 000000 6DD POOOODODOOOODO

p.208, O 5.5 f()000000 POO0OODOOOCO POOOODDOOOODOO | f(:)000000 POOOOOOOOCO DOOOOOOOOOOO
O0000000CO0000000 000000000000 O00CO00000000000000000CO00000nng 20

00000000000

p.209, 0 0 5.26 00000 CcO000000000000000000000C,,...,C, |00000CO000000000000000000000C,,...,C,0

00o0o0o0oc, ..., C, 00000000 pPO0000000O00f(z) | 00000C,Cy,...,C, 00000000 pPO00OO0OOOC,CYy,...,C,

0D=DuCuC,U---UC,00000000000000O0zeDO
goooboooboon

IR B (O NS < SO B (O
106 = g5 e~ g |,

O00000000000000000000f(2)0 D = DUCUC,U---UC),
oooo0ooboobobooboOobdzeDOOOODODOOOODO

16 = 55 [ e g [ e




O

O

p2260 00000
U

0<R <Ry <oo0D0000D0 f(2)00000 D={z|R<|z—a|<
R,}0000000000000f(2)0

o0

Z en(z —a)”

n=—oo

1 f(©)
" i e G

) = (0.1)

(n=0,+1,+2,..) (0.2)

0000000000000000R; <r<R,0000000(0.1)0

000 «000000 f(2)00000000(0.1)0 f(2)000000
—1

0000000000000 ) efe—a)"000000000000

ooo

0< R <Ry<oo00DO00O f(z)00000 D ={z|Ry < |z—a| < Ry}
00000000R, <r<R, 000000000

L/ f(Q)

tn = — L d¢ (n=0,+1,42,..)
211 J|¢—al=r (C — a)”“

000000 f(z) O

oo

Z cn(z—a)”

n=—oo

f(z) =

000000000000000(68) 0000 000000 f(2)O
00000O0O0((68)0 f(r)O000000O0OOODOOOUOUOOO

-1
Y e(z—-@)"000000000000000

N=—00




O 0
p-232, 00 6.1 O00f(2)00 z=e000000000 2=e¢000000<|2z—a|<R|000f(2)00 z2=e¢000000000 2=¢00000000<
0000000 z=a0 f(z2)0000000000 |z—a|<RODDODOO0 z=0a0 f(2)0000000000
ES)
p.233, 00 6.2 0000000000000 000000 Oooo0oO0O0O0OoOoo E:TE%EDDD(LmDDam::OWL:
zZ—a
m=1
1,2,..)000000
p.234, 00 6.3 00 f(2)00< |z—a|< ROODODDO0O0O000O0OOz=e¢0000 |0e«¢000 f(:)00000000f(2)000000<|z—al<ROD

000000000000000000 f(2)00<|z—a/<ROOODO
000000000000000000000000000

00000000000z=¢0000000000000000000
D0D00f(?)000000<|z—a/<RO0DODO00OOOOOOOOO0O
0000000000000000

p-234,00 6.300
U

@o)

O000D000r—=00000 My -000000000c¢—y, =0(n =
1,2,..)00000000000000000000000 z=a0 f(2)
gboooooboooooog

(00)00D00000000000000000000000D0000R
O00000000< |z—a|/< RO «0000000000O0DOOOOO
good

O000000000<|z—a|<RO«000000000OROOOOO
obooooooooodr—-000000M" 0000000000
c.,=0n=12,..)0000000000000000000O0000O
z=al f(2) 0000000000000

p.236, 00 6.3

oboooooobobooobooboboon

DDDDDDDDDDE:T&%—DDDQWDDDDDDmDDD
z—a)m

m=1

Oc,,=0000000

p.238,0 6.7000
O

oood

0000 f(e)=000000 «000OO0O0O0OOOOOO

p.239, 00 6.4

00000000000 00000000000000000< |z—a|l<R
good

C_1 > n
Y alza)

z
n=0

(cop #0,k=1,2,...)

oo
Do0opooooo Y~ 000¢,000000m000

m=1 (Z o a)m
0en#000000000000<]|2—al<RODODO

N SR SRR o S
flz) = e +Z_G+Z;%@ a)

(c.p, 20000000 kODOODOODOO)




p-255,00 7.100
goo

m=3000
m=3000
p-273000 10 googooooo 00000000000 o0ooooooooo ¥oooooooooo
gbogboaboo
p-328 [19)0 O0O000 000000 OoOoOoooooo200300 (9000000000000 0000U000UO00UOODUOOUOOn

20000 O0O0OU0O0O OO00OU0ODO0O0O0O0OO0O0199% 00
2100 000000 000000000 00199% 00

oooooo2o00800

2000 00000 0000000000000 D0200300
2100 O0O0OUO0O0O OOOUOOO0OO0OOOO199% 00
[22]00 O0O0DU0O0 O0O0O0UODOO0O0O00OO0O0199600




10

O

O

O000200700
gobooobooond
2015000000
gobooooogo
good

goobooooooboboooogoo

goobooooboboooooooDo




